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	QUESTION
	SC

	1a. What is the value of the following postfix-expression ?

2 3 4 5 + * 24 - ^
Answer: _______________

1b. While evaluating the expression using a stack, what is the maximum stack-size (=numbers of elements in stack) ?

Answer: _______________


	 2

1

	2a. Consider a complete binary tree, represented by the following array:

19

7

15

6

4

13

2

3

2

Please write down the values of the children of the node with value ‘15’:

Left:________    Right:__________

2b. Is the tree balanced ?
	2

1

	3.  Assume the array of question 2 to be a field of some JAVA-class, the array should be named binaryTree. Also assume the following function ‘trav’ to be a method of the same class. What is the output of the call  trav(1) ?

public void trav(int index){


if (index >= binaryTree.length) return;


child=index*2 + 1;


trav(child);


trav(child+1);


System.out.print(binaryTree[index]+” “);

}

What’ the function’s purpose  ?

_________________________________________________


	3
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